
Single live newborn 

born in hospital 
NO

Not in Initial 
Population

Gestational Age at birth

>= 37 weeks

YES

YES

Initial Population

NO

YES

YES

In Denominator 
Exclusions

(Do not include in Denominator)

NO

2023 eCQM Flow

Identifier: PC-06 v3

Unexpected Complications in Term Newborns

Unexpected complications among full term newborns with no 

preexisting conditions.

In Denominator

Denominator Exclusions

Performance 

Rate = 

b

= 8%

c

Gestational Age at birth

Is Null

Birth weight 

>= 3000 grams

YES

NO

NO

Equal to Initial Population

                       
                    

OR
Congenital 

Malformation
Fetal 

Conditions
OR

Maternal 

Drug Use Exposure 

In-Utero

Diagnoses

N

Encounter ends during 

measurement period

YES

NO

Denominator



2023 eCQM Flow

Identifier: PC-06 v3

Unexpected Complications in Term Newborns

Unexpected complications among full term newborns with no 

preexisting conditions.

Sample Calculation (a rate per 1000 livebirths)

                                 
Performance 

Rate = 
* 1000  = 10.1 per thousand livebirths

                               Numerator    (a = 10 patients) 

Denominator  (b=1000 patients) – Denominator Exclusions (c=10 patients)

No

                       
                    

OR
With Selected 

Discharge Disposition

With Severe Morbidities

Diagnoses or Procedures
OR

With Diagnoses of Severe 

Septicemia AND

LOS > 4 days

N

YES
In Severe 

Complications

In Numerator

No

                       
                    

ORModerate Complications 

Diagnoses or Procedures
OR YES

In Moderate 

Complications

WITHOUT

Jaundice and Social 

Indications

LOS > 5 days

YES

Moderate Complications 

Diagnoses or Procedures 

with LOS

Cesarean Birth 

with LOS > 4 Days

OR

Vaginal Birth 

with LOS > 2 days

YES

Not in Numerator
Stratification 1- Severe Complications (a1)

Stratification 2- Moderate Complications (a2)

a1

a2

a

Numerator

Stratification 1 =

Stratification 2 =

                               Numerator  (a1 = 3 patients) 

Denominator  (b=1000 patients) – Denominator Exclusions (c=10 patients)

                               Numerator  (a2 = 7 patients) 

Denominator  (b=1000 patients) – Denominator Exclusions (c=10 patients)

* 1000  = 3.0 per thousand livebirths

* 1000  = 7.1 per thousand livebirths
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